DEFENSIVE AND COMPETITIVE BIDDING

LEADS AND SIGNALS

OVERCALLS (Style; Responses; 1/2 level; Reopening)

OPENING LEADS STYLE

8-15 value, S+suit Lead In Partner’s suit

RESP: Rubens Advances, semi-F ; raise = preempt Suit 4" Same as left

R/O : 6-15HCP, 5+suit NT 4t Same as left
SubSeq | LOW=ENCRG. Same as left

Others: Same as opening leads

CATEGORY: Green
NCBO : _Chinese Taipei EVENT :

PLAYERS : Yu-Shiang Cheng, Kun-Chieh Wang

INT OVERCALL (2"/4™ Live; Responses; Reopening)

LEADS

15"-18HCP. (11-14HCP at 4th);

Lead Vs.  Suit Vs. NT

SYSTEM SUMMARY

RESP: Gladiator

Ace [Ax(+); AKx(+) Ax(+); AKx(+)

GENERAL APPROACH AND STYLE

2&: puppetto 24

King |AK;KQx(+); Kx KQx(+); Kx; AKITx(+)

5533 Natural

2X=5+suit, GT;

Queen [QJx(+); Qx QJx(+); KQT9(+)

INT Opening: 15" ~ 18

3X=5+suit, GF

Jack |JTx; KITx(+); Jx KITxx(+); JTx; Jx

JUMP OVERCALLS (Style; Responses; Unusual NT) 10 [Tx; HT9(+); Tx; HT9(+);
2-Suit: 2X = PRE, often 6 cards; 9 9x; T9x 9x; T9x
2NT=55+on two lowest unbidden suits, 12+ value Hi-x [Sx; xSx xSxx; XxSx; Sx
Reopen: 10-15, 6+suit Lo-x |HxxS(+); HxS, JTxS(+) |HxxS(+); HxS, JITxS(+)

SIGNALS IN ORDER OF PRIORITY

DIRECT and JUMP CUE BIDS (Styles; Responses; Partner’s Lead |Declare’s Lead Discarding SPECIAL BIDS THAT MAY REQUIRE DEFENCE
Michaels cue-bid: 1m-2m: 55+ on both M’s, 12+ value HIGH=ECG H-L=even HIGH=ECG 2& =22+ any hands or 18+HCP w/ good long suit
1M-2M: 55+ on oM and m, 12+ value Suit (if necessary) 3N = Gambling w/ at most 1CT in other suit
(1X)-3X and (2X)-3X: ask for stopper New Minor Forcing(Note 1)
LOW=ECG H-L=even Lavinthal Transfer Lebensohl(Note 2)
VS. NT (vs. Strong / Weak; Reopen; PH) NT (if necessary) Rubens advances(Note 3)
DBL: Penalty; Gladiator(Note 4)
| 2&:w+another suit->2 ¢ = relay; 29=S/0. 2 4=5+suit Signals (including Trumps): ASpTRO against NT
2 ¢ :a+another suit ->2w=relay, 24=S/0, 2NT=ASK. Fit-Showing
29/24:6v/4 Michaels cue bid
INT=%0/09/9A/A& 6-5+ strong DOUBLES Unusual 2NT

VS. PREEMPTS (Doubles; Cue-bids; Jumps; NT bids)

DBL=T/Oupto4v: (48)-X: PEN: (48)-4NT: T/O

TAKEOUT DOUBLES (Style; Responses; Reopening)

(2M)-4m=m+oM 5-5+

12+ value; with support to other suits, 10+ for pass hand

16+ value strong

VS. ARTIFICIAL STRONG OPENINGS

R/O 8+ value w/ support to other suits

() X:5+% 1D:5+a 1H:A+v Ore+&

CUE = F1, promise rebid.

SPECIAL FORCING PASS SEQUENCES

1S: A+¢ Orv+& IN: a+&% orv+e all 4-4+

SPECIAL, ARTIFICIAL AND COMPETITIVE DOUBLES/REDOUBLES

&) X:6+v 2D:6+6 2H:A+¥ Ore+&

NEGDBLupto3e

2S: A+6 orv+&  2N: A+& Oorv+e  all 4-5+ SUPP DBL/REDBL up to 2%
OVER OPPONENTS’ TAKEOUT DOUBLE RESPDBL upto2a IMPORTANT NOTES THAT DON’T FIT ELSEWHERE
JS=PRE; After IM (X) MAX DBL

16 M=w)=4+4; IN/2&/2¢/2% (over 1) transfer

2M/3M=PRE;

2NT=4M fit, INV. F to 3M

XX=10+ BAL no 3M
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& |7 %|=5%|Z "~ |piscripTION RESPONSES SUBSEQUENT AUCTION PASSED HAND BIDDING
IEX 3 [ 3¢ [12-21value 1 ¢ (over 1&)/19/1 a=4+suit; -1M: 2N=19-20, BAL(Note 6); 3N=solid &/¢ suit; JS=fit showing
INT=6-9; 2NT=12-15 or 18+; 3N=16-17; 4m=6+m w/ 4+M, 16-21
2m = usually 6-9,4+m could be less; -1X: IN=13-15, BAL; 2m=5+m, 13-15; 3m=6+m, 16-18;
3m=10-11,4+m; -2NT: 3& puppet to 34, 34/39/34: om/¥/4 singleton or void
2&(over 16)=10 F1;2v/24=S]JS;
2 ¢ (over 1&)/3&(over 14)=SJS or 7-9 5+m;
3¢ (over 1&%)/3w/3a/4&(over 1 4)=SPL, ST
1K 5 |3e |12-21value INT=5-11,F1; 2m=10 FI; -2%: 2NT/34/3 ¢ =INV, singleton or void 1NT=semi-forcing
24=GF, 4+v; 2NT=& weak or SJS; -2w: 2&=ask soft value JS=fit showing
3%=wfit, 11-12; 3¢=12-14, BAL w/ 3% -24:2NT/3%/34=a/%/¢ singleton or void; 3¥=MAX w/o short
34=SPL, singleton somewhere 34=MIN w/o short; ANT/4&/4e=v+ &/%/e 5-5+
-3#: 3NT=ask singleton suit
1a 5 |3e |12-21value INT=5-11,F1; 2m/2%=10 FI; -24:3%/3¢/3w=INV, singleton or void 1NT=semi-forcing
2NT=#& weak or SIS(Note 5); 3&=GF, 4+4 |-24: 2NT=ask soft value JS=fit showing
3e=afit, 11-12; 39=12-14, BAL w/ 3 & -3&%: 3¢=MIN; 3v=MAX, BAL; 4 =% short, MAX;
3NT=SPL, singleton somewhere 34/3NT/4&%=&/e/v short, MAX/MAX/MIN;
-3NT: 4&=ask singleton suit
INT 15"-18 HCP BAL 2&=STM(Note 7); 2 ¢ /2% Transfer(Note 8); |-2#: 2v/24=4, 2¢=n0 4M; -24: 34=4+%;36=4+¢;
4 ¢ /4w =Transfer, 6+v/&
2a&=m suit; 2NT=INV; 3&/3 ¢ =suit INV, -2e/%: 0M/3&/3 ¢=2 small suit, ¥/& 4 cards fit;
4 &= Gerber; 44/NT=Quant, INV 6NT; 2NT=4M333, 18 HCP;
D \ 22+HCP, any shape 2 ¢ =negative; -24:2v=BAL, not GF or v; 2NT=BAL, GF; 2 4/3m=suit;
29=2+CT or 1CT w/ 7+, without suit; 3¢=5+% and 4+4; 34=5+¢ and 4+4; 3NT=S/ O
without 21-22 BAL 24=5+v;2NT=5+4;
or 18+HCP w/ good long 3a/e=5+%/e;39/M=6+g00d w/a;
suit 3NT=any solid suit;
/4o /4w /4a=g00d ¢/¥/M/& suit
24 6(5) Weak two, 5-11' HCP 2NT=Asking; New suit = NAT, F1 -2NT: 3%/ ¢=bad suit, 5-8/9-11"; 3w/a= good suit, 5-8/9-11";
29 6(5) Weak two, 5-11"'HCP 2 a=Asking; New suit = NAT, F1 -24: 2NT=MIN w/o ¢ singleton or void; 3&=4& singleton or void;
2NT=a suit 3¢ v=MAX w/ ¢ asingleton or void; 34=BAL, MAX
26 6(5) Weak two, 5-11'HCP 2NT=Asking; New suit = NAT, F1 -2NT: 3&=MIN w/o ¢ singleton or void; 3 =4 singleton or void;
3w a=MAX w/ ¥ &singleton or void; 3ANT=BAL, MAX
2NT 21-22 HCP BAL 3&=ROMEX; 3 ¢/¥=Transfer; -3%:39=40r5,34=534=n0 4vand no 54; 3N=v 4 44
34=& suit, slam try or &+4
4&=¢ suit, slam try; 3NT=S/O; HIGH LEVEL BIDDING
4¢/v=TEXAS; RKCB(Note 9) (after direct fit) 1430;
4ANT=Quant; SNT=Quant; Using DOP1,DEPO
3%/e 7(6) 6-10HCP New suit = NAT, F1
39/ 7(6) 6-10HCP New suit = NAT, F1
ANT| Vv Gambling
Note 1: after 1m-1M; 1INT-2om (NMF)
2M/3M=3M, MIN/MAX; 2H/3H (M=S)=4H, MIN/MAX




Note 2: after 1INT-(2X) and (2X)-X
2Y=S/0 (Y>X>Z)
3S=ask for stopper
dm=Leaping Michaels (X=M:4m=m+oM; X=m:4om=om+one M)
X=C: 2NT=D inv+; 3C=Stayman
3D/H=transfer to H/S, inv+
X=D/H/S:2NT=puppet to 3C(-P/3Z=5/0, -3Y=CoG w/ stopper,
-3X=C w/o stopper,-3N=C w/ stopper)
3C/H/S=transfer to D/H/S inv+, transfer to X=STM
Note 3: after (1X)-1Y
IN/27 (z=C~2Y-2)=transfer to C/Z+1; 3Z=fit-showing
2Y-1=good fit; 2Y=Y fit 4-10(0-10 if NV)
2NT=4+fit almost GF
Note 4: (1X)-1INT
2C=puppet to 2D (-P/2M/3C=S/0;2NT=inv w/ C;3D/M=6+ suit inv)
2Y=5+ suit inv; 2X=STM
Note 5: 1M-2N
3C=Relay (-P=weak; -3D/H=C/oM SJS; -3S+=D SJS)
3D=C good fit; 3M=inv NAT
Note 6: 1m-1X; 2N
X=M: 3C=5M; 3D= fit m
X=D: 3C=puppet to 3D (-3M=NAT); 3M=short
Note 7: after 1INT-2C(STM);2D(No 4 M)
2H=5S inv; 2S=4S+5H inv
Note 8: after 1INT-2D/H(Transfer); 2H/S
30M=M ST;
Note 9: RKCB
When we fit C/D, we use 4D/4H as RKCB



